Question 1
Question text
Which of the following is not true?
Select one:
a. Majority of MSMEs are based in rural areas.
b. The MSME sector accounts for more than 30% of India's GDP

¢. The MSME sector accounts for approx. 45% of exports from India
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d. Women entrepreneurs are not far behind men in leading enterprises

Question 2
Question text
Why was change in definition of MSME needed?

Select one:

.
a

Older enterprises with historical investment value would be termed as micro units, whereas a
similar set-up today would be qualified as medium or large.

O b. New definition is in alignment with the global benchmarks

i
c

The earlier norms unintentionally hampered investment

C d. All of the above

Question 3
Question text
How many MSMEs are unregistered?
Select one:
a. Less than 50%
b. Less than 60%
c. More than 80%
d. More than 90%
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